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Question Number : 1 Question Id : 464199136 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



1950 & 9T & "iea™  gaiee AR sl THehedT e o-
(1) e e =t o 7 =
(2) e A o 11 =t
(3) T AT o 15 =t
(4) e ey =T K 30 =T

Question Number : 2 Question Id : 464199137 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

Hfatad 5 & i &7 Hea/awnT gl i =T 7 & wieREr g7

(1) T=z&«
(2) =g ==
(3) iR
(4) s T

Question Number : 3 Question Id : 464199138 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

W o Wi F dE gy, T qE S aeeEd gt o gEfeg Arel & dey § due S 0T @ sl winat o S a6
RIECICS qE

(1) =1g=a= 253
(2) o= 246
(3) o1g== 368
(4) === 300

Question Number : 4 Question Id : 464199139 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

T S ST WU o & ol AL FATARGT H U okl AT5 H AT ehaT 7T o477
() FRV/SFR

(2) =F e V/S st

(3) T V/S tord

(4) wrarars V/S s U

Question Number : 5 Question Id : 464199140 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

TR o1l o =ETetST YU, et 3 wer o, U AT AT Wi © O G 20T N T U 38T R e Fi
STeT S ST o &Rl 5 L& Tel STl o TaTeeT S GLaT & Fert @i @ax Ser st €, Sear o 2T g 87

(1) =Hm= VIS Zie=H

(2) et V/S Frdifems =i atd s

(3) wm. o g'w V/S ot mr @y o Hes

(4) e @Ay V/S 7, off. o1, (st o)




Question Number : 6 Question Id : 464199141 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

Tt dfeer sfefee, 1872 5 % wierer s & for e 78 87

ST 2T T e = e

(A) e (18 91 4 i 270 7 =4fh)

(B) et @y

C) ==

(D)  wrrer

TET AT = S 3 A i 29T ¢ S HieaT el o oA T Ae €
(1) #wTA,B,C

(2) #=aA,C,D

(3) #3aB,C, D

(4) A,B,C,D

Question Number : 7 Question Id : 464199142 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

Tt gearaer AT, 1882 Frse o arr "afem & fagld" U defm g2

(1) amr 30
(2) =mr32
(3) =35
(4) =mr 39

Question Number : 8 Question Id : 464199143 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T=TelaT = T HA-87 T Gerih e e?

(1) T AmaEeR ST

(2) U AeHETE A
(3) T HREEr AwT
(4) T ST ST ST ALY SHTT AT

Question Number : 9 Question Id : 464199144 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

" T e S ST/ AT S E T T e S ¥ Haied @t HEel s e T e e
ARSI 3T TATYHT ST T Bl €, ST AT b Fid S U 1o S Wel Sfees il 94 i -

(1) e 135
(2) #T=E368
(3) sT=32338
@)  =T=re268

Question Number : 10 Question Id : 464199145 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



ST 5 T U7 ST YRAT oA STeT W8l SR 2y AT s’ -
(1) Hem s =

(2) IR FEET SAE 3T

(3) M s 1773

(4) 1846 1 T =@t Al

Question Number : 11 Question Id : 464199146 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

R & ®F T & 97 G ANTTRE TE AT (TEdiehe 3117 T@his) & Tolw, Jraam wer ST & o 7
(1) a% FEhe A% e

(2) TSI FET
(3) sS==mEET
(4) =g =mEes

Question Number : 12 Question Id : 464199147 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

Toher T SeTe J10 27T=es 39 -5 T TG o WiewT = Siee o T o7
(1) 1976 @rgeras
(2) 1977 T gemraT
(3) 1978 r gere
4) 1979 Fr geie

Question Number : 13 Question Id : 464199148 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

forfefan = @ & ot e - dar 7@ 27
(1) e shr e
(2)  wriraeE
(3) g e

(4)  FIT ST

Question Number : 14 Question Id : 464199149 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

AT o i o HTARad S=e 5 8 i 1 T =19 ST 31w T Ferar Y2 il &7

(1) orge=m 23

2) o= 14
3) =230
(4) o== 39A

Question Number : 15 Question Id : 464199150 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



T
(1)
(2)
A3)
(4)

Question Number : 16 Question Id : 464199151 Question Type : MCQ Option Shuffling : No

Correct

£ e

Marks : S Wrong Marks : 1

i~

fore
(1)
(2)
(3)
(4)

oA H T HIET 3l -8 S=be T = =T § =TT hl =] o Sieham i i g2

=% 35

=5 110
s=ae 124

2

aFy=de 142

Question Number : 17 Question Id : 464199152 Question Type : MCQ Option Shuffling : No

Correct

Marks : S Wrong Marks : 1

T ST Sies R ST HIT o G AT & o AR & o e § A e 7

(1)
(2)
(3)
(4)

T aETTERRTC
ST apTTEreRT
frz amferm
AR BATTERT

Question Number : 18 Question Id : 464199153 Question Type : MCQ Option Shuffling : No

Correct

Marks : S Wrong Marks : 1

ST IS T 0 WY S =eis wai= AT i {2/ THT=eT ST &t T AL 2] &7

(1)
(2)
(3)
(4)

s 14
F=e 21
=T 32
7= 226

Question Number : 19 Question Id : 464199154 Question Type : MCQ Option Shuffling : No

Correct Marks : 5 Wrong Marks : 1
"P' ¥ e I ST IR T AR AT € S ITeL U gue el bl Ul € 5 o ®Y T G AT
=T Hehdl &
(1)  TesirsT (aafvepey)
(2) ST ()
(3) &= (Tawdi)
(4) 2=

Question Number : 20 Question Id : 464199155 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



BT 2L STETEd, S el i S T F wadt € 5 @i # SeesT T2 el 7 E |
() == g

(2) v & g

(3) g =/ dfagars & T

(4) TaEfaT® g

Question Number : 21 Question Id : 464199156 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

TerATedia = & shieT &7 ferehed Hier=T o ded Ter i S ol 2 & e o 7 T8t o ?
() TEAgem

(2) Toem

(3) ot oft wer =T ey

(4) T FL T Tw

Question Number : 22 Question Id : 464199157 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

Il gaer A, 1872 &1 & ©F 77 Wieer & SootsT & 919 5 g9 1 Jr=|r Hdl 87

(1 =73
(2) =T 56
(3) =80
(4) w82

Question Number : 23 Question Id : 464199158 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

FeTeiiae 5 T 1 °T FehieTeh SaTe GHTE T i T2 27

(1) #r=m
(2) T=ar
(3) ==

k]

(4) e ArteeRr (FF, =778, Te)

Question Number : 24 Question Id : 464199159 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



I o T ST EA T HRTTeETer o SR O @ eIt ST - STeT ST WET S 8] Fe e S o e 9w
Teraferamert (O, et 7. / NLUS) 5 werer o feau, seier wiem s @t & o i 87

(A) @ Faftr s wiver (o wer. . &, / CLAT)
(B)  Tafer vt weer wiam (ver. ww, v, 3 / LSAT)
(C) TRger Wi o wesr wier (v, 978, va. 5. 4. / AILET)
(D)  TRaer W & w/am (T, &773. & 3. / AIBE)

e Fow o et 7 & W S
(1) F=TA

(2) FFAmC

(3) F=C

4) A,B,CarD

Question Number : 25 Question Id : 464199160 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

TRTeT T Hil ek AR feohar ST F7T oh el o T Suefe & 2

(1) 7-1437
(2) 10-143¥
(3) 9-14a¥
(4) 6-14a7

Question Number : 26 Question Id : 464199161 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

LT W & Toh8 ST=as o T80 U4e A ST Yo7 Aiasr s, 1987 @ €7

(1)  orp=d= 38
(2) == 39-%
(3) == 40
4) o= 41

Question Number : 27 Question Id : 464199162 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



=1 a7 geit-11 3 amer e &L

-1

THAET wwEitar/Hiat
(A)  ToEHT SISO T HHATS HEwHT
(B)  afmfehr =R ST % faw §3w T SR
(C) iR i T SRR W s aem
(D) =TI 37 TET 9T 9 g
Frer o e feeheat o & @ S )
(1) (A)-(D), (B) - (IV), (C) - (I1D), (D) - (I)
(2)  (A)-D), (B)- (L), (C) - (IV), (D) - (1)
(3)  (A) - (1), (B) - (II), (C) - (), (D) - (IV)
4) (A)-V), (B)- 1), (C) - (1), (D) - ()

-1

ELiR

) SRR YT FIHI @ [ U T SR TS
(1) AreiReRr & fore @ e == SR

(1) =T Gamat shr Serienr

(IV)  F:31esh T gemer 31T =s 7 5

(I

Question Number : 28 Question Id : 464199163 Question Type : MCQ Option Shuffling : No

Correct Marks : S Wrong Marks : 1

geft=1 & g=it-11 3 arwr Hems L

-1 =f-11
(A) TR 3 ANIH & AR () a=a= 30
(B) Siia it SATATa o= o A (1) =rg=a= 21w
(C)  Frefioms GEuT 3 TUTTT 71 TR TeaT STeTEETh! & AT (1) org=em 21
(D) Trar @t st (IV) sm7=7 20
e few e feeedt 5 @ gt S o
(D) (A) - (D), (B) - (I, (C) - (IV), (D) - (III)
(2)  (A)- (1D, (B) - (I), (C) - (I}, (D) - (IV)
(3) (A) -, (B) - (IV), (C) - D), (D) - (I)
4) (A)-(1V), (B) - (1ID), (C) - (I), (D) - (II)

Question Number : 29 Question Id : 464199164 Question Type : MCQ Option Shuffling : No

Correct Marks : 5 Wrong Marks : 1
=1 a7 geit-11 3 amer e &L
-1
gt V/S EiE=
., Fgar V/S o o wre vant ofw @
(C)  AT9m A T
(D) v =T = i & ST S
= 2w, 7w feremedt & O @t S =
(1) (A)- D, (B) - (IV), (C) - (I), (D) - (I1I)
(2) (A)- (D, (B) - (D, (C) - (IV), (D) - (1I)
(3) (A)- (D), (B) - 1), (C) - (IV), (D) - (II)
4) (A)-(I),(B) - (II), (C) - (II), (D) - (IV)

(A)
(B)

=11
(I) i =Tk
(1) =& TufmAT 7 21T

(III) =@ & Faed
(IV) =5 7 A7



Question Number : 30 Question Id : 464199165 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

=1 a7 geit-11 3 amer e &L

i | i
(A) wdf== =Ered & gt et (1) oifeee 132
(B) oI agwfcr orerer (I)  erg=as 32
(C) f (Temer) Sremr (Il) srr=a= 131
(D)  erieder dpfira (IV) === 136
ik R A E e R e e

(1) (A)- (D, (B)- D), (C) - (D), (D) - (IV)
(2) (A) - (D), (B) - (IV), (C) - (1), (D) - (D)
(3)  (A)-(ID), (B) - (IV), (C) - (1II), (D) - (I)
4)  (A)-1V), B)- (D), (C)- 1D, (D) - (1)

Question Number : 31 Question Id : 464199166 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

it 1 et geft-11 @ @rer e L

Eind | =10
(A) =IFF & W (D) org=ae 25 (7. 3. 7= 37R)
(B)  =TdT 7T wie (I) &7=2=3 (7. 9. . A%)
(C)  WTTTSToh Ga T HAEhIT (III) sg== 5 (7. <1 oo, 31)
(D) T & HHer g (IV) == 7 (7. 9. w3, &1
=1 o O eeRet 7 ¥ e I

(1) (A)-D, (B)- (), (C) - (I), (D) - (IV)
(2)  (A)- (D), B)- D), (C) - (D), (D) - (IV)
(3)  (A)- ), (B) - (ID), (C) - (D, (D) - (IV)
(4) (A)-(D),(B)- 1D, (C) - (ID), (D) - (IV)

Question Number : 32 Question Id : 464199167 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T 5 T &I T TSR HF o &l 5 T8l 781 8/

(1) e TR T 37 26k ATITER T ol A5 &l STeT- 3T HeT0 & |
(2) wTEEr B S & T & W T 2 TR s ST Biar gl

(3)  wrgert o gefter S AEf g

(4) @S W & AT T S @ UEHT SA9d 5 e Arsr i 2|

Question Number : 33 Question Id : 464199168 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



FeTTeTRare STHET i W & W= A F {5 T 3T e & AWET 7 § ST il Teel {98 M0 et i 5 A1 i
(A) i wd H e V/S Hee sz AT

(B) w5 fdmes V/S =i & g e

(C) Ferame a9t V/S s =7

(D) . w3, Egepiz V/S qeies 159

<y Fo o et @ T e
(1) C,D,B,A
2y C,D,AB
(3) D,C.A.B

4) C,A,D,B

Question Number : 34 Question Id : 464199169 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

FrTeas AT &l e ATH I o SR & H a1 & T8el AT ST i Teel W, 3T 6T T8 317 &
o Ik I T W -

(A) TR o IR ST e
(B) iR AR G ST
(C) TR Teie AT

(D) v AR

= f2w e fermet & @ wdt S =
(I A,B,D,C

2) A,C,D,B

(3) B,A,D,C

(4) B,D,A,C

Question Number : 35 Question Id : 464199170 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

i s -

ATl =PIl shl STh TATHHT 3 STHR e o 5 SFieerd L
(A) T I AT ST, Ferhm

(B)  wi i i safese, airel

(C) =8 a1 =mEres

(D) wiTHE % e, 739

fi=r o e FRedt § & WE I =

(1) C,A,D.B

2) C,ABD

3) A,B,D,C

4) A,C,D,B

Question Number : 36 Question Id : 464199171 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



HEREH o BOT i S i AT HET ST T -
(A) Fieaw

(B) AT o1 a7

(C) ATt Ter 3 WTea o e

(D) T o T

<y Fo o Rt @ T o
1 ABREDE
2) A,D.C,B
3 C,D,AB

4) B,C,A.D

Question Number : 37 Question Id : 464199172 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

TT STEl H = STEeh 7 g ARy
(1) ey i) a7

(2) Ty o7 AT

(3) AR AR wfER 7

(4) afT whg A i

Question Number : 38 Question Id : 464199173 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

STl HATTT T e 0T Rl L el &

(A) THST@EAE

(B) Um St i

(C) s ST T\Ts g e e S8 T 8
(D) =& s Femr-fempter &

(E) =8 = M g1 =70 T8 S80ar T €
<y o Pt & &

(1) #=a (A), (B) =it (D)

(2) & (A), (B) sk (E)

(3) =@ (C), (D) =i (E)

(4)  F (A), (B), (C) &k (E)

Question Number : 39 Question Id : 464199174 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



AT = T i W7 AT HT o Fiq 87
(A)  sifeir if-fas
(B) sty getey

(C) Ardfms/end Tam

(D) & T g ST GTH I o A g
(BE) =T =mim e

<fr3r e o Rt & e =)

(1) & (A), (B), (C) skt (D)

(2) Fa(A), (B) #it (D)

(3) @@ (A), (B) #x (E)

(4) #=a (A), (B) (D) 3 (E)

Question Number : 40 Question Id : 464199175 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T SATUSIT TR sht STehl ST o o ST g il
(A) U=

(B) =g i AT amm
(C) wgmTe

(D) il fofEr o

(E) To9@res gy

= T, T FeeRed | 5 & wEy S |
(1) B,D,A,C.E

(2) A,B,D,E,C

3) CD,A,BE

4y B,E,AC,D

Sub-Section Number : 2
Sub-Section Id : 4641998
Question Shuffling Allowed : No

Question Number : 41 Question Id : 464199176 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



=32 st U 371 T 3 IAT S -

ST HFATERR, AT FFT & @ & Ta (0= FehiC o elle] T2 id 8| HHIEehi & Fead S Hiars & dag 5 E6i
AT, | HIERhL T o ferehry G Tl o0 g o T8 STel W2l o ifeh ATaTeehidl & SLai & feft, Uh Somed! s sTeerehr off |
Y TRTaETE A e H ST J@re STAT| A7 1 TsHIT0en ATHehR T A amed (315, 9@ . ot s, / ICCPR) &
STT=ds 4 T FoET T 8 Toh - S o AT, SaR o S, SR e A e T AR €, SR w8t A=A |

T &7 ST ST =T T ST T -

(1) iR &7 Tt sfasn
(2) il Al

(3) witRlas AP

(4) TS SEET

Question Number : 42 Question Id : 464199177 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

it=ibe ol Ud 31T T97 & a7 @ -

AU AR, AT F o @ & Ta =0T Feh o Helled T2 Hid 8| b & W A e o dag § H6i
YHEATT, B| TSR T o oo T T3t o0 7 o7 T80 ST W27 iieh Haieehrd o ST o Teft, Uk ST o7 STrereher off |
HY TIRTAETE ST AET H 196 Jara STAT| AT ST TeH1T0 SATHaE T A aed (o1, o, f. 1. e, / ICCPR) &
= 4 H FET TR § o - SHa T AT, e ol TEea, S o e {1 SR T SR €, S aherdr et s s e |

FrITeEs & T -0 T ATaeeh Tt qey i o ¢

(1) ¥gm U e
(2)  qe Tie
(3) w=mE

(4) AHETRERT T

Question Number : 43 Question Id : 464199178 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

=3 ol U 31T T97 6 I < -

HAUT AR, HTAET R & @ & qed =91 bR & oI T H 8| FHEaHR & S0 AL FHHETE & dee § =
TS, €] HHE R T o ferehr T Tl o0 25 o T8 W1 W2l aiieh AR @ STai & (et U qured! s sTeeehar off |
T FIhATETE S TTEcT 5§ =TT FaTel STRAT| A7 3T T SHwR 7 SAaie s aeq (o7, o, ot 1. oK. / ICCPR) &
7= 4 0 el 7§ R - Sfer s iR, e e s, = e et s [k s €, S @ A s e |

AR, W Feels T TS o s W U VR STl o Rl iiErs o el €, T8 e ¢

(1) o= =

(2) T=H=Ee

(3) = i /st % O =R
CON LI

Question Number : 44 Question Id : 464199179 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1



=g hi U 3T T97 eh 3AY @ -

AL AR, AT FI & @ & dad A9~ FehI o HaTel @S Hid 8] AR & Joad SAK HHas & g 5 ==
TS, €] HHE R T o Terehr T Tl o0 25 o T8 W1 W2l aifeh AR @ STai & (el Uk qured! s sTeeehsar off |
T FThATETE 371 TTEcT 5 =TT Sa1e STRT| A7 3T TR SR T sAaie s aen (7. o, ot 1. oK. / ICCPR) &
7= 4 0 el 7§ R - Sfer s iR, e e s, = e et s [k s €, S @ A s e |

AT THIT @ 8 SATHR AT, FHETT ST AT b7 Ve 5 @i o A A e -
(1) i s & wme=r g

(2) UE =R &

(3) T SR FT

(4) =71l ST TmHTeTe THus

Question Number : 45 Question Id : 464199180 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

Ot ot U T T H I -
AU AR, AT F o @ & Ta =0T Feh o Helled T2 Hid 8| b & W A e o dag § H6i
YHEATT, B| TSR T o oo T T3t o0 7 o7 T80 ST W27 iieh Haieehrd o ST o Teft, Uk ST o7 STrereher off |

T HIRATETE ST A6 H 198 Sa1el STRT| 7R 3T T SRl 92 SAaueE aed (o, of, df, T, o1, / ICCPR) &
= 4 H FET TR § o - SHa T AT, e ol TEea, S o e {1 SR T SR €, S aherdr et s s e |

HTEITERRT 3T [T HITHE S0 0 © -
(1) TR ZeaEe

(2) TE-sTeAERT ST

(3)  wAfar e

(4) T TR
Sub-Section Number : 3
Sub-Section Id : 4641999
Question Shuffling Allowed : No

Question Number : 46 Question Id : 464199181 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

=02 s U 1T Tl ST 3aT 3 -

2010 =, W % TP FHAAT Uo7 T (WA E T, / NALSA) T et oo mieestr A, 1987 g 29 &
T w1 BT ST SR B U T G SfeeRaor (TS AT W ST 4d) ST i e 3 S a6t =, s
SIRATER, T, FSeT o7 aTephr o7 shiT SaT [t 7 @ a8

1987 & ST dar siereRter e o Fopfetfiae qraren € -
(1) foes g

(2) T3 TR SR

(3) Wt =t Rl e AT TE

(4) @ T okt 3 geeh Bt werar




Question Number : 47 Question Id : 464199182 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

U= i U 37T Tl Hr 3T @ -
2010 5, 97 & T HEAT a7 T (WU T, / NALSA) T #dt e e sfatem, 1987 e 29 % &

ST ST T T K B U AT U Tehr (F3Teeh ST e T §o) et 6 19| 37 Wi gEie =, 3o
STRTERT, T, ToTer 370 ATeteh &l T Sar 9rfad) 7 @ &l ¢

%gﬁf‘ﬂﬁﬂ?@%%@ﬁ:ﬂm AT HERA e &t =T g -

(1) 3=
(2) e
(3) ArvEE
4) =

Question Number : 48 Question Id : 464199183 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

i< st U 3T Tol ST It @ -
2010 =, 97 % T HEA a7 T (W@ T, / NALSA) T #dt e e Aftem, 1987 & e 29 % &

T I BT ST S g U T GeT SfReRtor (19 AT W ST A ST At ) 3 S et =, se
STRTERT, T, e 370 ATereh &l T e it 7 @ 8l ¢

TerATrar # & febr ity T TS F:3Tesh T Herar 1 shar 76l ¢

(1) wig
(2) = R
(3) w&w

(4) =i sTeET

Question Number : 49 Question Id : 464199184 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

Ui=0e W Ua 31T ToT T 390 & -

2010 =, W % TP FHAAT Uo7 T (WA E T, / NALSA) T et oo mieestr A, 1987 g 29 &
T S BT TR SR G U T W SieeRor (TS AT W ST 49) ST e 3 S bt =, s
AT, T, T57ed 371 ATephT =T T e iHfar =« 8t 2

TS gRT G T ST aredt i G o fore T ==t s et S femer s -
(1) 9T % "e=Ears g

(2) T TET WA & HERRT ST TR

(3) T TET WA A O W g

(4) = T & sTee g

Question Number : 50 Question Id : 464199185 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



U= i U 37T Tl Hr 3T @ -

2010 =, s & Tty wA e wieeer (O e T, / NALSA) T &t der oritesor sfatmm, 1987 g 29 % ded
ST ST T T K B U AT U Tehr (F3Teeh ST e T §o) et 6 19| 37 Wi gEie =, 3o
[l i P A s B e e L L N ) R

et & O fober et 7 9T & Gieeny & oireas 21 & g aferr o7 7 37l 8, 59 ersar g o T 87
(1) =g V/S st g

(2) .. Few V/S v uE

(3) AT V/S s g

(4) T sEaEmr A



